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5% 10% 20% 30% 40% 0%t
cP % 20.00 1800 1945 1755 1889 17.09 17.78 16.18 16.67 15.27 1556 14.36 17.00 15.69
ME  Mcal/kg 3.16 320 313 317 311 314 306 309 300 303 295 298 299 301
Lys % 1.09 097 105 094 102 091 095 085 088 079 081 073 103 102
Met+Cys % 075 076 073 074 071 072 068 068 064 065 060 061 073 074
Thr % 069 072 067 070 065 067 060 063 056 058 051 053 075 077
/kg 70.35 66.95 69.08 65.85 67.82 64.76 65.28 6256 62.75 60.37 60.21 58.17 65.68 63.64
Lys) 0.2%, 03 Met) (Thr) 01 0.2%
45 384 756 882
CcP ME: Met+cys:
2. (
5% 10% 20% 30% 40%
6 3 3 3 3 3
g 116 117 116 117 124 127 2
4 g 503 503 502 502 502 502 1
12 g 2966 ab 3088 2 30512 2964 @ 2859 b 2821 b 35
g 1732 1730 1708 1705 1608 1631 37
g 638 57 B 59 B 64 B 80 A 80 A 3
g 762 84 2 70 @ 95 @ 136 b 130 b 12
2008 5 10 20% 2009 30 40 3
1 20 5
(Tukey) A-B:P<0.01, a-b:P<0.05
= + + +
= ( /) 3
3.
30% 30%+
4 4 4
g 101 100 103 2
4 g 475 476 474 1
8 g 1458 * 1336 B 1344 ° 10
12 g 2540 ° 2407 ° 2505 @ 25
g 1463 1366 1467 29
g 54 B 69 A 69 A 17
g 89 @ 114 ° 87 @ 65
1 44 22 5
(Tukey) A-B:P<0.01, a-b:P<0.05
= + + +
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